< X9, \3(—‘\—) 7  pesibion vector
< x'(+), LS' () > \/e,loc?%j vecto ¢
PG ) Y'()> occeleradion vector

L dun Spaad ot acac\e,
\/ (WD = O P .
crootuda ( wf\%um) o

veldc 143 NeCxDC

b
arc, \ E
g\\/%gﬁ_ a_k_(%%)&- b = LL;OT(‘V\%% of cwrv&(leqw\) 3
o | distanca_ dgueled
by por cle,
from a_ Ho b
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N

coordinates are given by x = £ -1 and y= W0
Find its accelerat ion vectoratt=1.

3t‘tz+’ >

a()=< 20,247

1. A particle moves in the xy-plane so that at any time t, its

he particle is at the Find the position of
t

e particle at timel__—é' X ‘j
x (+)= f(m) dt
x(= L t+C

2. A particle moves on the curve‘y =Inx }) that its x-
component has derivative x'(¢ )=+ 1 for 1 >0. Attime

3. The position of a particle moving in the xy-plane is given
by the parametric equations

3,
x=-=t*~18t+53nd y=r— 6> +9¢+4. For
what value(s) of t is the particle at rest?(\l = O>

X®)= 343t -12=0

'4)=3 (4>t - ) =0
" 3%—& -3) -h—Z) Oz—

%'(‘f) 3t —|z++°1 0
y'®)=3(t*- 4)%(#))0
3 -3)(+-1)=0

t =)

4. A curve Cis defined by the parametric equations
x=r and y = t* —5t+2. Write the equation of the line

tangent to the graﬁh of C at the point @ =
R 25

%::‘%"

t=3

NI—
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e position of a particle at any time ¢ = 0 is given by

(f)= 12— Band y([)—_“- % r.

(a) Find the magnitude of the velocity vector at time t = 5.
(b) Find the total distance traveled by the particle from t =
Otot=5.

d
(c) Find _y as a function of x.

o) \Eﬂ) + (Z‘é")z -

\[z(poo = 1oJz{,

;. f\/ E0 (26 dt

is

dx Z
¥ = -';L-S
Xx+32=F%

6. Point P(x, y) moves in the xy-plane in such a way that

dx 1

dr t+1

(a) Find the coordinates of Pin terms of t given that t=1,
=In2,andy=0.

(b) Write an equation expressing y in terms of x.

(c) Find the average rate of change of y with respect to x

as tvaries from 0 to 4.
(d) Find the instantaneous rate of change of ywith

respect toxwhent=1

0) x(0= [ L-dt = Ln[t |+

c=0
K(+) = An(++1)
y +*+ D
()({uo& D=t|
) +3-|
()= (n (b, £71)

b) x= Ln (441 y=@"-) |

and 92:21 for t = 0.
dt

€¥=:e'+| H e X _ Zex

C

J 4=e*-

I—

) ylb)-ylo) W (4)—

outy: o (Y =x(a) ~ Tx(4)

ylod _ 16 d)-dél
—x(0) AnS 1= T,

1. If a particle moves in the xy-plane so that at time ¢

R o 7)) L\ L
its position vector is smLBt—EJ,Bt , find the

velocity vector at time ¢ =

2 <—-?> 3>

2. A particle moves along the curve

xy=10. If x=2 and @=3, what is the value of-d—)c
dt dt

e LS

&= 5

3.f x=t*~1and y =e" , find dy/dx. 3

dy  3t-ef
dx ~ =

0, its position vector is (ln(t2 + St), 31‘2> , find its

velocity vector at time t = 2. <, %’ |12 7

4. If a particle moves in the xy-plane so that at any time t >

[ 5. A particle moves in the xy-plane in such a way that its
| velocity vector is (1 +1, t3>. If the position vectorat t=0

is (5, O), find the position of the particle at t=2.

(9,%)

6. Calculator: A particle moves in the xy-plane so that the
position of the particle is given by

x(t)= 5t +3sint and y(t)= (S—tXI—cost) Find

the velocity vector at the time when the particle’s

horizontal position is x = 25. < -7- 008) "2 . z'zg >
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"""\(‘.‘ °
LA iru .
"
! @ i)V = -~ nf 2l — I 2.1 ="
A= < sin (34-F), 2>
V(_L _ - P —_ T
Ci® & gC/O-bL:"";;+ B
![ ~ m"-r‘—‘\

dx -6
dt ~ -
+3 3
x=t3-\  du _ 3%t'e 2Lt

ViD= AES ot >
(D= < &2y

@ vidi= <3 £, %>

0= (e eddt = b+ i =x&)
O+O+c =5

W) = £+ 2 +S c=3

YD = [Hide - J“’+C =y

CO

_t‘l
T
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2 “
sy= <t+ L, 5 >
s()= < 1,47
GV = £ S+ Beosk, (8-)sint) + (1-cost)(D 7 |

G’)E_S s 5"%; '{“‘%Sif\"r
+ & 441

Ul S,H46) % < 7.008, X A&7
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